
H1LHaL
x3 − 6 x2 + 11 x − 6 = 0
Let x = y + 2
y3 − y = 0
Let y = s×z

z3 −
1
������
s2

 z =

0 → HSin@θDL3 − 3
����
4
 Sin@θD = − 1

����
4
 Sin@3 θD

When s =
2

���������è!!!
3

Let z = Sin@θD
Sin@3 θD = 0
3 θ = 2 n π

θ =
2
����
3
 n π, θ = 0,

2 π
��������
3

,
4 π
��������
3

Sin@θD = 0, è!!!
3

���������
2

, −
è!!!
3

���������
2

y = s×z = 0, 1, −1
x = 2, 3 , 1

When s = −
2

���������è!!!
3

Let z = Sin@θD
Sin@3 θD = 0
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3 θ = 2 n π

θ =
2
����
3
 n π, θ = 0,

2 π
��������
3

,
4 π
��������
3

Sin@θD = 0, è!!!3
���������
2

, −
è!!!3
���������
2

y = s×z = 0, 1, −1
x = 2, 1, 3

HbL
x3 + 2 x2 + 2 x + 1 = 0

Let x = y −
2
����
3

y3 +
2 y
��������
3

+
7
������
27

=

0 → HSin@θDL3 − 3
����
4
 Sin@θD = − 1

����
4
 Sin@3 θD

Let y = s×z

z3 +
2 z
���������
3 s2

+
7

������������
27 s3

= 0

Let
2

���������
3 s2

= −
3
����
4

When s =
2 
è!!!
2  ä

����������������
3

z3 −
3
����
4
 z +

7
������������
27 s3

=

0 → HSin@θDL3 − 3
����
4
 Sin@θD = − 1

����
4
 Sin@3 θD
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Let z = Sin@θD
Sin@3 θD = 7 

è!!!
2

������������
8

 ä

Let 3 θ = 3 α + 3 β ä
Sin@3 θD = Sin@3 αD Cosh@3 βD +

ä Cos@3 αD Sinh@3 βD = 7 è!!!2
������������
8

 ä

Sin@3 αD Cosh@3 βD = 0,
Cos@3 αD Sinh@3 βD = 7 

è!!!
2

������������
8

Assume Sin@3 αD = 0
α =

2 n π
�����������
3

= 0,
2 π
��������
3

,
4 π
��������
3

Sinh@3 βD = 7 
è!!!
2

������������
8

Let ã3 β = a

a −
1
����
a
=
7 è!!!2
������������
4

a = 2 
è!!!
2

β = LogAa 1���
3 E = LogAè!!!

2E
θ = ä×LogAè!!!2E
=
2 π
��������
3

+ ä×LogAè!!!
2E

=
4 π
��������
3

+ ä×LogAè!!!2E
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z = Sin@θD = SinAä ×LogAè!!!2EE = ä
������������
2
è!!!
2

=

SinA 2 π��������
3

+ ä×LogAè!!!2EE = 1
����
4
"####################
13 − 3 äè!!!3

= SinA 4 π��������
3

+ ä× LogAè!!!2EE =
−
3"####3���2���������������

4
−

ä
������������
4è!!!2

y = s×z =
ikjjjj ä
������������
2è!!!2 y{zzzz∗ 2 è!!!2  ä

����������������
3

= −
1
����
3

=ikjj 1����4 "####################
13 − 3 ä

è!!!
3 y{zz∗ 2 

è!!!
2  ä

����������������
3

=
1
����
6
I1 + 3 äè!!!

3M
=
i
k
jjjjjjj− 3"####3���2���������������

4
−

ä
������������
4è!!!2

y
{
zzzzzzz ∗ 2 

è!!!
2  ä

����������������
3

=

1
����
6
I1 − 3 äè!!!3M

x = y −
2
����
3

= −
1
����
3
−
2
����
3
= −1

=
1
����
6
I1 + 3 äè!!!3M − 2

����
3

= −
1
����
2
+
è!!!
3

���������
2

 ä
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=
1
����
6
I1 − 3 äè!!!

3M − 2
����
3

= −
1
����
2
−
è!!!
3

���������
2

 ä

When s = −
2 
è!!!
2  ä

����������������
3

z3 −
3
����
4
 z +

7
������������
27 s3

=

0 → HSin@θDL3 − 3
����
4
 Sin@θD = − 1

����
4
 Sin@3 θD

Let z = Sin@θD
Sin@3 θD = − 7 è!!!2

������������
8

 ä

Let 3 θ = 3 α + 3 β ä
Sin@3 θD = Sin@3 αD Cosh@3 βD +

ä Cos@3 αD Sinh@3 βD = − 7 
è!!!
2

������������
8

 ä

Sin@3 αD Cosh@3 βD = 0,
Cos@3 αD Sinh@3 βD = − 7 è!!!2

������������
8

Assume Sin@3 αD = 0
α =

2 n π
�����������
3

= 0,
2 π
��������
3

,
4 π
��������
3

Sinh@3 βD = − 7 è!!!2
������������
8

Let ã3 β = a
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a −
1
����
a
= −

7 
è!!!
2

������������
4

a =
è!!!
2

���������
4

β = LogAa 1���
3 E = LogA 1

���������è!!!
2
E

θ = ä×LogA 1
���������è!!!
2
E

=
2 π
��������
3

+ ä×LogA 1
���������è!!!
2
E

=
4 π
��������
3

+ ä×LogA 1
���������è!!!
2
E

z = Sin@θD = SinAä ×LogA 1
���������è!!!2 EE = −ä

������������
2è!!!2

=

SinA 2 π��������
3

+ ä×LogA 1
���������è!!!
2
EE = −1

�������
4

"####################
13 − 3 ä

è!!!
3

= SinA 4 π��������
3

+ ä× LogA 1
���������è!!!2 EE =

3"####3���2���������������
4

+
ä

������������
4è!!!2
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y = s×z =
ikjjjj −ä
������������
2
è!!!
2

y{zzzz∗ −2 
è!!!
2  ä

�������������������
3

= −
1
����
3

=
ikjj −1�������4 "####################

13 − 3 ä
è!!!
3 y{zz∗ −2 

è!!!
2  ä

�������������������
3

=

1
����
6
I1 + 3 äè!!!

3M
=
i
k
jjjjjjj 3

"####3���2���������������
4

+
ä

������������
4
è!!!
2

y
{
zzzzzzz∗ −2 è!!!2  ä

�������������������
3

=

1
����
6
I1 − 3 äè!!!

3M
x = y −

2
����
3

= −
1
����
3
−
2
����
3
= −1

=
1
����
6
I1 + 3 äè!!!

3M − 2
����
3
= −

1
����
2
+
è!!!3
���������
2

 ä

=

1
����
6
I1 − 3 äè!!!

3M − 2
����
3

= −
1
����
2
+ −

è!!!
3

���������
2

 ä
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H2L
z = x + yäHaL
Cosh@x + y äD =
Cosh@xD Cos@yD + ä Sinh@xD Sin@yD
Conjugate@Cosh@x + y äDD =
Cosh@xD Cos@yD − ä Sinh@xD Sin@yD
Cosh@Conjugate@x + y äDD = Cosh@x − yäD =
Cosh@xD Cos@yD − ä Sinh@xD Sin@yD

Conjugate@Cosh@x + y äDD =
Cosh@Conjugate@x + yäDD
It' s rightHbL
Sinh@x + y äD =
Sinh@xD Cos@yD + ä Cosh@xD Sin@yD
Conjugate@Sinh@x + y äDD =
Sinh@xD Cos@yD − ä Cosh@xD Sin@yD
Sinh@Conjugate@x + y äDD = Sinh@x − yäD =
Sinh@xD Cos@yD − ä Cosh@xD Sin@yD

Conjugate@Sinh@x + y äDD =
Sinh@Conjugate@x + yäDD
It' s rightH3L
z = ãä∗θ

Cos@θD = 1
����
2
 Jz + 1

����
z
N
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Sin@θD = 1
����������
2∗ä

 Jz − 1
����
z
N

dθ =
1

����������
ä∗ z

 dzHaL
‡
0

2 π 1
���������������������������������������������
1 + p2 − 2∗p∗Cos@θD  âθ =

‡
0

2 π 1
����������������������������������������������������
1 + p2 − 2∗p∗ 1���2  Hz + 1���z L  

1
����������
ä∗z

 dz =

‡
0

2 π − 1�������
ä∗p

������������������������������������Hz − pL∗Iz − 1���p M  dz
When z = p, ˝ p ˝ < 1

‡
0

2 π − 1�������ä∗p
������������������������������������Hz − pL∗Iz − 1���p M  dz =

2 π ä 
i
kjjjjj

− 1�������
ä∗p

������������������Ip − 1���p M
y
{zzzzz = 2 π

�������������
1 − p2

When z =
1
����
p
, ˝ p ˝ > 1

‡
0

2 π − 1�������
ä∗p

������������������������������������Hz − pL∗Iz − 1���p M  dz =
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2 π ä 
i
kjjjjj

− 1�������
ä∗p

������������������I 1���p − pM y{zzzzz = 2 π
�������������
p2 − 1HbL

‡
0

2 π − 1�������ä∗p ∗ 1���2 ∗Hz2 + 1�����z2 L
��������������������������������������������Hz − pL∗Iz − 1���p M  dz =

‡
0

2 π −1∗Hz4 + 1L
����������������������������������������������������������
2 ä p∗z2 ∗Hz − pL∗Iz − 1���p M  dz

When ˝ p ˝ < 1, z = 0, z = p

‡
0

2 π −1∗Hz4 + 1L
����������������������������������������������������������
2 ä p∗z2 ∗Hz − pL∗Iz − 1���p M  dz =

2 π ä
i
kjjjjjLimitA d

������
dz

 
i
kjjjjj −1∗Hz4 + 1L
�������������������������������������������������
2 ä p∗ Hz − pL ∗Iz − 1���p M

y
{zzzzz,

z → 0E + −1∗Hp4 + 1L
���������������������������������������
2 ä p∗p2 ∗Ip − 1���p M

y
{zzzzz = 2 p2 π

�������������
1 − p2

When ˝ p ˝ > 1, z = 0, z =
1
����
p

‡
0

2 π −1∗Hz4 + 1L
����������������������������������������������������������
2 ä p∗z2 ∗Hz − pL∗Iz − 1���p M  dz =i
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2 π ä
i
k
jjjjjjLimitA d

������
dz

 
i
kjjjjj −1∗Hz4 + 1L
�������������������������������������������������
2 ä p∗ Hz − pL ∗Iz − 1���p M

y
{zzzzz,

z → 0E + −1∗II 1���p M4 + 1M
����������������������������������������������
2 ä p∗I 1���p M2∗ I 1���p − pM

y
{
zzzzzz = 2 π

�����������������
−p2 + p4

HcL
·

0

2 π − 1�������
ä∗p ∗J1 − p∗ z+ 1���

z��������2 N
�������������������������������������������Hz − pL∗Iz − 1���p M  dz =

‡
0

2 π −1 ∗Hz − p���2 ∗Hz2 + 1LL
����������������������������������������������������
ä p∗z∗Hz − pL∗ Iz − 1���p M  dz

When ˝ p ˝ < 1, z = 0, z = p

‡
0

2 π −1∗Hz − p���2 ∗Hz2 + 1LL
����������������������������������������������������
ä p∗z∗Hz − pL ∗Iz − 1���p M  dz =

2 π ä 
i
kjjjjj
−1∗H0 − p���2 ∗H02 + 1LL
�����������������������������������������������
ä p∗H0 − pL ∗I0 − 1���p M +

−1∗Hp − p���2 ∗Hp2 + 1LL
�����������������������������������������������

ä p∗p∗Ip − 1���p M
y
{zzzzz = 2 π

When ˝ p ˝ > 1, z = 0, z =
1
����
p
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‡
0

2 π −1∗Hz − p���2 ∗Hz2 + 1LL
����������������������������������������������������
ä p∗z∗Hz − pL ∗Iz − 1���p M  dz =

2 π ä 
i
k
jjjjjj −1∗H0 − p���2 ∗H02 + 1LL
�����������������������������������������������
ä p∗H0 − pL ∗I0 − 1���p M +

−1∗I 1���p − p���2 ∗II 1���p M2 + 1MM
��������������������������������������������������������

ä p∗ 1���p ∗I 1���p − pM y
{
zzzzzz = 0

HdL
‡
0

2 π − 1�������
ä∗p ∗ 1�������2∗ä ∗Hz − 1���z L

��������������������������������������������Hz − pL∗Iz − 1���p M  dz =

‡
0

2 π Hz2 − 1L
�������������������������������������������������������
2∗p∗z ∗Hz − pL∗Iz − 1���p M  dz

When ˝ p ˝ < 1, z = 0, z = p

‡
0

2 π Hz2 − 1L
�������������������������������������������������������
2∗p∗ z∗Hz − pL∗Iz − 1���p M  dz =

2 πä 
i
kjjjjj H02 − 1L
�������������������������������������������������
2∗p ∗H0 − pL∗I0 − 1���p M +

Hp2 − 1L
�������������������������������������
2∗ p∗p∗Ip − 1���p M

y
{zzzzz = 0
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When ˝ p ˝ > 1, z = 0, z =
1
����
p

‡
0

2 π Hz2 − 1L
�������������������������������������������������������
2∗p∗ z∗Hz − pL∗Iz − 1���p M  dz =

2 πä 
i
k
jjjjjj H02 − 1L
�������������������������������������������������
2∗p ∗H0 − pL∗I0 − 1���p M +

II 1���p M2 − 1M
���������������������������������������
2∗ p∗ 1���p ∗I 1���p − pM y

{
zzzzzz = 0

H4L
Assume z@tD = f@tD ãä∗t,
z'@tD = f'@tD ãä∗t + ä f@tD ãä∗t,
z''@tD = f''@tD ãä∗t + 2 ä f'@tD ãä∗t − f@tD ãä∗t
z''@tD + z@tD = f''@tD ãä∗t + 2 ä f'@tD ãä∗t =
ãä∗t → f''@tD + 2 ä f'@tD = 1

→ Hf'@tD ã2∗ä∗tL' = ã2∗ä∗t
f'@tD = 1

�������
2 ä

+ c1 ã−2∗ä∗t

f@tD = t
�������
2 ä

+
c1 ∗ã−2∗ä∗t�����������������������

2 ä
+ c2

Set c1 = c2 = 0

z@tD = t
�������
2 ä

∗ãä∗t
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H5L
ã

π∗ä��������
2 = CosA π����

2
E + ä∗ SinA π

����
2
E = ä

log@äD = logAã π∗ä��������
2 E = π ∗ä

�����������
2
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H6LHaL
u2 + v2 =

1
����
4

w =
z + 1���4�������������
z + 4

=
x + y ä + 1���4�����������������������
x + y ä + 4

=

x2 + 17�����4 ∗x + y2 + 1
���������������������������������������Hx + 4L2 + y2 +

15�����4 ∗y
���������������������������Hx + 4L2 + y2  ä = u + v ä

u =
x2 + 17�����4 ∗x + y2 + 1
���������������������������������������Hx + 4L2 + y2

v =
15�����4 ∗y

���������������������������Hx + 4L2 + y2
u2 + v2 =

1
����
4

→
ikjjjj
x2 + 17�����4 ∗x + y2 + 1
���������������������������������������Hx + 4L2 + y2 y{zzzz

2

+
ikjjjj

15�����4 ∗y
���������������������������Hx + 4L2 + y2 y{zzzz

2

=

1 −
15 H17 + 8 xL

��������������������������������������
16 HH4 + xL2 + y2L =

1
����
4

→ H4 + xL2 + y2 = 25
������
4

A circleHbL
1 −

15 H17 + 8 xL
��������������������������������������
16 HH4 + xL2 + y2L =

1
������
16

 0 → x2 + y2 = 1 A circle
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H7L
z = x + y ä, z

−
= x − y ä

∂
�������
∂z

=
∂
�������
∂x

∗
∂x
�������
∂z

=
∂
�������
∂x

∗1 =
∂
�������
∂x

∂
�������
∂z

=
∂
�������
∂y

∗
∂y
�������
∂z

=
∂
�������
∂y

∗J 1����
ä
N = −ä ∂

�������
∂y

∂
�������
∂z
− =

∂
�������
∂x

∗
∂x
�������
∂z
− =

∂
�������
∂x

∗1 =
∂
�������
∂x

∂
�������
∂z
− =

∂
�������
∂y

∗
∂y
�������
∂z
− =

∂
�������
∂y

∗J −1�������
ä

N = ä ∂
�������
∂y

H8L
F = J a b

c d
N

FT = J a c
b d

N
U2 = FT F = ikjj a2 + c2 a b + c d

a b+ c d b2 + d2
y{zz

EigensystemAFT FE = 99 1
����
2
ikjja2 + b2 + c2 + d2 −" ### #### #### #### #### ### #### #### #### ### #### #### #### ### #### #### #### ###H−a2 − b2 − c2 − d2L2 −4 Hb2 c2 − 2 a b c d+ a2 d2L y{zz,

1
����
2
ikjja2 + b2 +c2 + d2 +" #### #### ### #### #### #### #### ### #### #### #### ### #### #### #### ### #### ###H−a2 − b2 −c2 − d2L2 − 4 Hb2 c2 − 2 a bc d + a2 d2L y{zz=,

99− −a2 + b2 −c2 +d2 +
"# ### #### #### #### ### #### #### #### ### #### #### #### #### ### #### #### #### ##H−a2 − b2 −c2 −d2L2 − 4 Hb2 c2 − 2 a b c d + a2 d2L

��������������������������������������������������������������������������������������������������������������������������������������������������������������
2 Ha b+ c dL , 1=,

9− −a2 + b2 −c2 +d2 −
"# ### #### #### #### ### #### #### #### ### #### #### #### #### ### #### #### #### ##H−a2 − b2 −c2 −d2L2 − 4 Hb2 c2 − 2 a b c d + a2 d2L

��������������������������������������������������������������������������������������������������������������������������������������������������������������
2 Ha b+ c dL , 1===

Ψ =

i

k

jjjjjjjjjjjjjjjjjj

a2−b2+c2−d2−" #### ### #### #### ### #### ### #### ### #### ### #### ####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
���������������������������������������������������������������������������������������

2Ha b+cdL$ % %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%
−
" ### ### #### ### ### #### ### #### ### ### #### ### ### #### ### #### ### ###IHb+cL2+Ha−dL2M IHb−cL2+Ha+dL2M
�������������������������������������������������������������������������������������������

ab+c d

1��������������������������������������������������������������������$ %% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%%
−
" # ### #### ### ### #### ### #### ### ### #### ### ### #### ### ### #### ### ##IHb+cL2+Ha−dL2 M IHb−cL2+Ha+dL2 M
�������������������������������������������������������������������������������������������

a b+c d

a2−b2+c2−d2+" #### ### #### #### ### #### ### #### ### #### ### #### ####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
���������������������������������������������������������������������������������������

2Ha b+cdL$ % %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%
−
" ### ### #### ### ### #### ### #### ### ### #### ### ### #### ### #### ### ###IHb+cL2+Ha−dL2M IHb−cL2+Ha+dL2M
�������������������������������������������������������������������������������������������ab+c d

1��������������������������������������������������������������������$ %% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%%
−
" # ### #### ### ### #### ### #### ### ### #### ### ### #### ### ### #### ### ##IHb+cL2+Ha−dL2 M IHb−cL2+Ha+dL2 M
�������������������������������������������������������������������������������������������a b+c d

y
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zzzzzzzzzzzzzzzzzz
„ =
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jjjjjjjjjjjjjj
$%% %%% %%%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%1���

2
ikjja2 + b2 +c2 + d2 −" #### #### #### ### #### #### #### ### #### #### #### ### #### #### #### ### #### ###H−a2 − b2 −c2 − d2L2 − 4 Hb2 c2 − 2 a bc d + a2 d2L y{zz

0 $%%%% %%% %%%% %%%% %%%% %%% %%1���
2
ikjja2 + b2 + c2 +

y
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ΨT =
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a2−b2+c2−d2−" ## ### #### ### #### #### ### #### ### #### ### #### ### ###IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
���������������������������������������������������������������������������������������

2Hab+cdL$ %%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%%−
" # ### #### ### #### ### ### #### ### ### #### ### ### #### ### #### ### ### ##IHb+cL2+Ha−dL2 M IHb−cL2+Ha+dL2 M
�������������������������������������������������������������������������������������������

a b+c d

a2−b2+c2−d2+" # ### #### ### #### ### #### #### ### #### ### #### ### ####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
���������������������������������������������������������������������������������������

2Ha b+cdL$ % %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%%%−
" ### #### ### ### #### ### #### ### ### #### ### ### #### ### #### ### ### ###IHb+cL2+Ha−dL2 M IHb−cL2+Ha+dL2M
�������������������������������������������������������������������������������������������

a b+c d

1��������������������������������������������������������������������$ %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%%−
" # #### ### #### ### ### #### ### ### #### ### #### ### ### #### ### ### #### #IHb+cL2+Ha−dL2 MIHb−cL2+Ha+dL2 M
�������������������������������������������������������������������������������������������

a b+c d

1��������������������������������������������������������������������$ %% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%%%−
" #### ### ### #### ### #### ### ### #### ### ### #### ### #### ### ### #### ##IHb+cL2+Ha−dL2 M IHb−cL2+Ha+dL2M
�������������������������������������������������������������������������������������������

a b+c d

y

{

zzzzzzzzzzzzzzzz

U = Ψ ‚ ΨT =
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$ % %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%%%a2+b2+c2+d2−" ## #### #### ### #### ### #### ### #### ### #### #### ### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M ikjj−a2+b2−c2+d2+" ## #### ### #### #### ### #### ### #### ### #### ### #### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M y{zz+ikjja2−b���������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
2
è ! !!
2 " ## #### #### ### #### ### #### ##IHb+cL2+Ha−dL2MIH

è ! !!
2 Ha b+cd��������������������������������������������������������������������������������������������������������$ %% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%%%a2+b2+c2+d2−" ### ### #### #### ### #### ### #### ### #### ### #### #####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M +$ % %%%a2

R = FU−1 =
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jjjjjjjjjjjjjjjjj
������������������������������������������������������������������������������������������������������������������
d
è!! !!!! !!!! !!! !!!! !!!! !!!! !!! !!!! !!!! !!!! !!! !!!! !!!! !!!!!HHb+cL2+Ha−dL2L HHb−cL2+Ha+dL2L " ### #### #### #### ### #### #### #### #### ### #### #### #### ### #####

a2+b2+c2+d2−
è!!!! !!! !!!! !!!! !!!! !!!! !!! !!!! !!!HHb+cL2+Ha−dL2L HHb

b
"### ### #### #### ###

a2+b2+c2+d

����������������������

V2 = FFT =
ikjj a2 + b2 a c + b d
a c+ b d c2 + d2

y{zz
EigensystemAFFTE = 99 1

����
2
ikjja2 + b2 + c2 + d2 −

" ### #### #### #### ### #### #### #### ### #### #### #### ### #### #### #### ### ####H−a2 − b2 − c2 − d2L2 −4 Hb2 c2 − 2 a b c d+ a2 d2L y{zz,
1
����
2
ikjja2 + b2 +c2 + d2 +" #### #### ### #### #### #### #### ### #### #### #### ### #### #### #### ### #### ###H−a2 − b2 −c2 − d2L2 − 4 Hb2 c2 − 2 a bc d + a2 d2L y{zz=,

99− −a2 − b2 +c2 +d2 +
"# ### #### #### #### ### #### #### #### ### #### #### #### #### ### #### #### #### ##H−a2 − b2 −c2 −d2L2 − 4 Hb2 c2 − 2 a b c d + a2 d2L

��������������������������������������������������������������������������������������������������������������������������������������������������������������
2 Ha c+ b dL , 1=,

9− −a2 − b2 +c2 +d2 −
"# ### #### #### #### ### #### #### #### ### #### #### #### #### ### #### #### #### ##H−a2 − b2 −c2 −d2L2 − 4 Hb2 c2 − 2 a b c d + a2 d2L

��������������������������������������������������������������������������������������������������������������������������������������������������������������
2 Ha c+ b dL , 1===
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−a2−b2+c2+d2+" #### ### #### ### #### ### #### ### #### #### ### #### ####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
�����������������������������������������������������������������������������������������

2" # #### ### #### #### ### #### ### #### ### #### ### #### ###IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M − ac+bd�����������������������������������������������������������������" ## #### ### #### ### #### #### ### #### ### #### ### #### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
−a2−b2+c2+d2−" #### ### #### ### #### ### #### ### #### #### ### #### ####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
�����������������������������������������������������������������������������������������

2" # #### ### #### #### ### #### ### #### ### #### ### #### ###IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M − ac+bd�����������������������������������������������������������������" ## #### ### #### ### #### #### ### #### ### #### ### #### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M

y
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zzzzzzzzzzzzz
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$%% %%% %%%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%1���

2
ikjja2 + b2 +c2 + d2 −" #### #### #### ### #### #### #### ### #### #### #### ### #### #### #### ### #### ###H−a2 − b2 −c2 − d2L2 − 4 Hb2 c2 − 2 a bc d + a2 d2L y{zz

0 $%%%% %%% %%%% %%%% %%%% %%% %%1���
2
ikjja2 + b2 + c2 +

y

{
zzzzzzzzzzzzzz

ΦT =
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−a2−b2+c2+d2+" # #### #### ### #### ### #### ### #### ### #### #### ### ###IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
�����������������������������������������������������������������������������������������

2" ### ### #### ### #### #### ### #### ### #### ### #### ### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M −a2−b2+c2+d2−" ### #### ### #### ### #### ### #### ### #### #### ### #####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
�����������������������������������������������������������������������������������������

2" # ### #### ### #### #### ### #### ### #### ### #### ### ####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M
− ac+bd�����������������������������������������������������������������" # #### ### #### #### ### #### ### #### ### #### ### #### ###IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M − ac+bd�����������������������������������������������������������������" ### ### #### #### ### #### ### #### ### #### ### #### #####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M

y
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V = Φ ‚ΦT =
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$ % %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%%%a2+b2+c2+d2−" ## #### ### #### #### ### #### ### #### ### #### ### #### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M ikjj−a2−b2+c2+d2+" ## #### ### #### ### #### #### ### #### ### #### ### #### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M y{zz+ikjja2+b���������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
2
è !!!

2
" ## #### ### #### #### ### #### ##IHb+cL2+Ha−dL2MIH

è ! !!
2 Hac+bdL��������������������������������������������������������������������������������������������������������$ %% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%%%a2+b2+c2+d2−" ### ### #### ### #### #### ### #### ### #### ### #### ### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M +$ % %%%%a2+

R = V−1 F =
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k

jjjjjjjjjjjjjjjjjjjjjjjjjjjj

�������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������
d" ### ### #### ### #### #### ### #### ### #### ### #### ### ##IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M $ %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%a2+b2+c2+d2−" # ### #### #### ### #### ### #### ### #### ### #### #### ###IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M +H2abc−a2 d+dHb2+c2+

b$ %%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%% %%%% %%% %%%% %%% %%%% %%% %%%% %%%% %%%a2+b2+c2+d2−" #### ### #### ### #### ### #### ### #### #### ### #### ####IHb+cL2+Ha−dL2MIHb−cL2+Ha+dL2M +
Ia2 b+2 a c d+b
����������������������������������

�����������������������������������������������������������������������������������������������������������������������

Φ = J Cos@φD −Sin@φD
Sin@φD Cos@φD N

ΨT = J Cos@ϕD −Sin@ϕD
Sin@ϕD Cos@ϕD N

f HzL =
1
����
2
 
i
kjjjjj$%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%%% %%% %%%% %%1

����
2
Ja + d −è ! !!!! !!!! !!!! !!!! !!! !!!! !!!!!

a2 +4 b c − 2 a d+ d2 N +$% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%1
����
2
Ja + d +è ! !!!! !!! !!!! !!!! !!!! !!! !!!! !!

a2 + 4 b c − 2 a d+ d2 N y
{zzzzz z +

1
����
2
 
i
kjjjjj$%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%1

����
2
Ja + d −è ! !!!! !!!! !!! !!!! !!!! !!!! !!!!!

a2 +4 b c − 2 a d+ d2 N −$% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%% %%%% %%% %%%% %%%1
����
2
Ja + d +è! !!! !!!! !!!! !!!! !!! !!!! !!!! !!

a2 + 4 b c − 2 a d +d2 N y
{zzzzz z−

F = ãä∗φ f Iãä∗ϕ zM
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